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Storage Registers




Arithmetic

Addition: To add 2 numbers, key in the first number and press EMTEEl. Then key in the
second number and press

[+ 1. To add another number to this result, key in the number and press
.

Subtraction: To subtract 2 numbers, key in the first number and press EMTER]. Then key in
the number to be subtracted and press

=1

Example: To add the numbers 20.3 and 36, key in 20.3 and press ENTER, Then key in 36
and press

[+ 1. The resultis 56.3. To subtract 5 from this result, key in 5 and press

=

Multiplication: To multiply 2 numbers, key in the first number and press ENTER]. Then key in
the second number and press

[ ],

Division: To divide 2 numbers, key in the first number (dividend) and press ENTERl. Then
key in the second number (divisor) and press

[=1

Negation: To change the sign of a number, press [CH5]. Do not use the
=1 key, it is used for subtraction.



Storage Registers

BizWiz has 20 general purpose memory storage registers. To store a number in a memory
register, key in the number and press followed by a number (0 through 9 or .0

through .9). Numbers are stored in financial registers in the same manner. These registers
are the

i

and

registers. To recall a number from a storage register, press

followed by a number ( 0 through 9 or .0 through .9).

Example: To store the number 55.67 in memory register 1, key in 55.67, press and
key in 1. To recall the number from register 1, press
and key in 1.

You can also perform simple arithmetic with storage registers using the

and
=1 function keys.

Example: To add 49.03 to the contents of memory storage register 1 you would key in
49.03 and press
1



Exponential Notation

Use exponential notation to enter very large or very small numbers into BizWiz. The
key is used to enter the exponent.

Example: To enter the number 12,000,000,000, key in 12 and press and key in 9. To
change the sign of the exponent, press
[CHE],



Keyboard Help

Although BizWiz is intended to be used with a mouse, some of it's elementary operations
can be done with the keyboard as well. For instance, the numbers 0 through 9 and the
decimal point can be typed at the keyboard. The functions +, -, *, /, and the Enter key also
function as you would expect. In addition, the following keyboard characters are used:

'c' substitute for the function key
‘e substitute for the function key
n' substitute for the function key



Clearing Numbers

Clear a number in the display by pressing [CLx]. BizWiz is now ready to accept another
entry. BizWiz does not require a separate key for clearing a number and a different key for
clearing the last entry.

To clear the last digit entered, press the key. For example, if you wished to enter
123.45 and accidently entered 123.46, you would press
and key in 5.

BizWiz also contains other function keys to clear the following:

Clear Sum. Clear statistical registers.

Clear program. Clear program memory. Only works in program mode.
Clear financial registers.

Clear registers, stack, memory, and financial registers.




File Commands

New




New

Erase all program memory in preparation for creating a new program. BizWiz allows for
programs of up to 999 steps. Program memory can also be cleared by pressing the LFRGHM
function key while in program mode



Open

Open a BizWiz program file which was previously saved using the Save or Save As
commands. When the program is loaded, any program(s) previously in memory will be lost.




Save

Save current program memory as a disk file. The file will be saved under the filename given
during a previous Open or Save As command.



Save As

Save a program(s) in memory under a new or different file name.



Edit - Clipboard Functions

The Edit menu is used for transfering numbers between BizWiz and other application
programs. To transfer a number from BizWiz to the clipboard, select Copy. To transfer a
number into BizWiz from the clipboard, select Paste.



Edit Copy

Copy a number shown in the display into the clipboard. The number can then be pasted
into another application



Edit Paste

Copy a number from the clipboard into BizWiz. Used to transfer numbers into BizZWiz from
other applications.



Options - Configurable Parameters




Options Digits

Used to display the number of digits following the decimal point. Result will be rounded to
the number of decimal point digits set. Defaults to 2 digits. BizWiz calculations are
internally significant to 18 decimal point digits.



Other Options

Separator: Used to set the separator characters. Default is English/American where the
decimal point is shown as a period '.' and each 3 digits to the left of the decimal point are
separated by a comma. European separators are the opposite.

Date Format: Used to set the entry/output format for date calculations. Default is M.DY.
In this mode, a month is entered/displayed as MM.DDYYYY. For example, 8-27-1958 would
be entered as 08.271958. In D.MY mode, this would be 27.081958. This option can also be
set using the or

function keys. See Date Calculations for more information.

Odd Period Interest: This option allows the use of either simple or compound interest in
calculations involving partial periods. The calculation only affects the interest during the
partial periods. This function can also be toggled by pressing the 2 function keys
[EEX]. See Odd Period Calculations for more information.

Payment Mode. This option provides for.compound interest calculations to be calculated
assuming the payment is made at the beginning of the payment period or the end of the
payment period. These options can also be set using the and

[ENC] function keys.




Financial Functions

BizWiz contains a large number of financial registers. These registers are used for both
storing values and computing compound interest calculations. The financial registers are
summarized below:

Store/Calculate Present Value
Store/Calculate Future Value

[Ci ] Store/Calculate Interest Rate
Store/Calculate Number of Periods

For more information and specific examples using compound interest calculations, see the
Compound Interest section.

Additional function keys used for financial calculations include:

Amortization
AMORT| Calculate Amortization

Simple Interest Calculations
Calculate Simple Interest

Discounted Cash Flow Analysis

Calculate Net Present Value

Calculate Net Future Value

Calculate Internal Rate of Return
Calculate Modified Internal Rate of Return

Actuarial Functions

Calculate Single Payment Present Value
Calculate Single Payment Future Value

Calculate Uniform Series Present Value
Calculate Uniform Series Future Value

Bond Calculations
FEICE| Calculate Bond Price
Calculate Bond Yield

Depreciation Calculations

Calculate Declining Balance depreciation
Calculate Straight Line depreciation
Calculate Sum of Years Digits depreciation




Cash Flow Convention

Compound interest calculations involve both the paying and receiving of monies. For
example if you take out a loan, you initially receive money from the bank, then you must pay
money to the bank at periodic intervals. Likewise if you deposit money into a savings
account, you are paying money into that account and receiving money later in terms of what
you have earned as interest.

There is a convention used within BizWiz to designate the paying and receiving of monies.
Money paid is always a negative number, since it is being subtracted from a source.
Similiarly, money received is a positive number. Thus when calculating using the or
or

registers, you should observe the proper sign convention.



Amortization

Provides for determining the amount applied toward the principal and toward the interest for
a loan payment or series of payments.

To amortize a loan payment, follow the following steps:

1. Clear the financial registers by pressing [FIN].
2. Key in the loan amount and then press [F¥].
3. Key in the interest rate and press [i_1.

4. Key in the payment amount and press [_i_]

Key in the number of payments you wish to have amortized and press [2MORT],
The amount applied towards interest is now shown in the display.

.msﬂH

Example: Suppose you have purchased an automobile for $23,000 at 7.5% interest
compounded monthly on a 4 year loan. Find the amount you will have paid in interest and
principal on the loan after 10 months.

1. Press i 1]to clear the financial registers.

2 Press [_i_] for end mode mode.

3. Key in 23000 and press [_i_] to enter the loan amount.

4. Key in 7.5 and press to enter the interest compounded monthly.
5. Key in 4 and press to enter the number of months.

6. Press LFY1. The montly payment is 556.11. Notice the cash flow convention is
negative.

7. Key in 10 and press LF¥1. The interest paid after 10 months is $1,319.57.
8. Press [#¥5Y]. The principal paid after 10 months is $4,241.53.

9. Press

[F¥]. The remaining balance after 10 months is 18,758.47.



Depreciation

BizWiz provides the capability to calculate the depreciation on an asset using the Straight
Line, Sum of Years Digits, or Declining Balance methods.

To calculate depreciation using any method:

Key in the price of the asset and press

Key in the salvage value and press

Key in the length of time (in years) of the asset's usefulness and press

If you are using the declining balance method, key in the percentage declining
alance factor and press
. Key in the length of time (in years) to calculate the depreciation on and press either
or
or
LR/,

1
2
3
4
b
5

Example: Compute the depreciation on a $7500 computer workstation after 1 year. Assume
the workstation will be depreciated over 5 years and that the Sum of Years Digits method
will be used.

1. Key in 7500 and press

2. Key in 0 and press LF¥ 1. (Note: This assumes the workstation will have no salvage
value).

3. Key in 5 and press [ F¥ 1.

4. Key in 1 and press LF¥1. The depreciation for the first year is $2,500.

5 Press [#5Y]. The remaining depreciable value is 5,000.

To compute the depreciation after the 2nd year, key in 2 and press [F¥1, and so on.



Simple Interest Calculations

Simple interest calculations are computed for both 360 day and 365 day years. Enter the
principal amount in the register, the annual interest rate in the

[ F ] register, and the number of days in the
register.

Example: Compute the simple interest on a $1500 loan at 7% for 90 days.

1. Key in 1500 and press

[

2. Key in 7 and press [F¥ 1,

3. Key in 90 and press [F¥ 1.

4. Press to compute the interest.

The interest is $26.25 when computed on a 360 day basis. To compute the interest on a
365 day basis, press and then
[X57],



Compound Interest Calculations

Compound interest calculations involve monies where interest is compounded at regular
intervals. A compounding period may be a day, month, year, etc.

BizWiz uses the

and

registers in compound interest calculations. Any of four of the variables must be
known and the fifth one can then be calculated. When performing compound interest
calculations, the proper cash flow convention should be used. Note: calculations for
[F/],

[F¥1, and

are always rounded to two decimal places. Calculations for

are rounded up to the nearest integer, and calculations for

are calculated as accurately as possible.

In calculations where the compounding period is monthly and/or the length is given in years,
BizWiz provides 2 shortcut function keys. The key is used to store the number of years
and the

key is used to store the annual interest rate compounded monthly.

The and

function keys are used for calculations where interest is to be compounded at the
beginning of a compounding period (annuity due) or end of the compounding period
(ordinary annuity) respectively. BizWiz defaults to "end" mode. To change to "begin"
mode, press

[F¥1. To change back to end mode, press

[,

To clear the financial registers in preparation for a new compound interest calculation, press
LR/,

The following categories of compound interest examples are available:
Savings Examples for saving money.

Mortgages Examples for mortgage loans.
Loans Examples for other loans such as car loans.



Savings Calculations Examples

Example: Suppose you have $9,600 in a savings account. You have just received a raise
and are able to make monthly deposits of $400 into this account. How long will it be before
you have $17,000 if your account earns 6.5% interest compounded monthly?

1. Press to clear the financial registers.

2. Key in 9,600 and press

to enter the beginning amount.

3. Key in 400 and press

to enter the monthly deposit.

4. Key in 6.5, press to enter the interest rate per compounding period.
5. Key in 17,000 and press to enter the future value.

6. Press to calculate the number of periods.

The result is 16 months. BizWiz rounds up the number of months in calculations for if
a result is not exact. This is because it is more-than-likely that after 15 months the amount
would be somewhat less than the desired $17,000 and after 16 months it would be
somewhat more.

Example: Calculate the actual amount in the account after 16 months.

1. Keyin 16 and press
2. Press to calculate the final amount.

The result is $17,133.36.

Example: Assume you wish to set up an in an annuity or other investment that pays regular
dividends of 6.5% and that you can make payments into the investment of $2000 each year.
What will be the amount you will have in the investment after 20 years? Assume the

dividends are taxed as ordinary income and that you're in the 23% tax bracket.

1. Key in 6.5, press LF¥1, key in 23, press

[F¥ 1. This represents the net interest rate the investment will yield after taxes.
2. Key in 20 and press to enter the number of payments.

3. Press to accrue interest starting at the beginning of each period.

4. Key in 2,000 and press

to enter the annual payment.

5. Key in 0 and press since the initial investment amount is zero.

6. Press to calculate the future amount.

The result is $69,478.52. To determine what this amount represents in terms of today's
dollars, assuming a 7% overall rate of inflation:

1. Keyin 7 and press
2. Key in 0 and press
3. Press

In terms of today's dollars at a 7% inflation rate, the investment represents a present-value



amount of $17,954.57.

Example: A savings account has a $200,000 balance and earns 7% interest compounded
monthly. How long will it take before the account is depleted if reqular monthly withdrawls
of $1500 are made at the beginning of each month?

1. Press

to clear the financial registers and select begin mode.

2. Key in 200,000 and press to enter the balance.

3. Key in 7 and press [12<] to enter the interest rate per compounding period.

4. Key in 1500 and press
to enter the monthly withdrawl.

5. Press to calculate the number of months to deplete the account. The result is
256 months (21.33 years).

Example: A savings account has $330,000 and earns 7% compounded monthly. How
much will be left in the account after 5 years if at the beginning of every quarter withdrawls
of $10,000 are made?

This problem is complicated by the fact that the compounding period is not the same as the
period the withdrawls are made. Steps 1 through 7 convert the interest rate with monthly
compounding into an equivalent interest rate with quarterly compounding.

1. Press

to clear the financial registers and select begin mode.

Key in 7 and press to enter the nominal interest rate.

Key in 12 and press LF_] to enter the number of compounding periods.

Press to calculate an effective interest rate using 12 compounding periods.
Key in 4 and press [LF_] to enter the new number of periods.

Press to calculate an equivalent interest rate using 4 compounding periods.
. Key in 4 and press

to enter the interest rate per compounding period.

8. Key in 330,000 and press to enter the account balance.

9. Key in 10,000 and press

to enter the withdrawl amount.

10. Key in 20 and press [FIN1, This represent 20 withdrawls ( 5 years * 4 withdrawls per
year).

11. Press to calculate the resulting balance. The result is $230,560.02.
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Mortgage Calculations Examples

Example: How much would your monthly payments be for a home costing $140,000 at
10.5% compounded monthly on a 30 year loan?

1. Press
to clear the financial registers and use end mode.

2. Key in 140,000 and press to enter the purchase price.

3. Key in 10.5 and press to enter the interest rate per compounding period.

4. Key in 30 and press to enter the number of periods.

5. Press to compute the monthly payment. The result is $1,280.64. The result is

negative because it represents an amount paid out.

Example: Assume in the above example that there was a provision in the loan to allow the
purchaser to pay off the loan in a final balloon payment after 15 years. What would the
amount of the ballon payment be?

1. Keyin 15 and press
2. Press to calculate the amount remaining on the loan after 15 years.
3. Press

FIM | to add in the monthly payment to the amount remaining. The result is $117,131.22

Example: Calculate the Annual Percentage Rate (APR) on a 20 year home loan of $125,000
at 9.5% interest if the loan fee is 1.5 points.

1. Press to clear the financial registers.

2. Key in 125,000 and press to enter the loan amount.

3. Key in 9.5 and press to enter the monthly interest.

4. Key in 20 and press to enter the number of months.

5. Press to calculate the monthly payment.

6. Press

[F], 1.5

to enter the loan amount minus the loan fee.

7. Press to calculate the monthly interest.

8. Key in 12 and press to calculate the APR interest. The result is 9.72%

Example: Calculate the payments for the first 2 years of a variable rate mortgage if the
interest rate is 10.5% for the first year and 11% for the second year. The loan amount is
$140,000 and has a 15 year term.

1. Press

to clear the financial and select end mode.

Key in 140,000 and press to enter the loan amount.

Key in 15 and press to enter the number of compounding periods.
Key in 10.5 and press [_i | to enter the 1st year's interest rate

PwnN



5. Press i1 to calculate the payments for the 1st year. The result is $1,547.56.
6. Key in 1 and press (]

[ 1 to calculate the remaining balance after the 1st year. The result is $135,937.48.
7. Press [i_]

[ 1 to store the new loan amount.

8. Key in 14 and press [_i_1 to enter the new number of compounding periods.

9. Key in 11 and press [_i_] to enter the new interest rate.

10.  Key in 0 and press [ 1 since the loan will be paid off at the end.

11. Press i | to calculate the 2nd year's payments. The result is $1589.15.



Loan Calculations Examples

Example: Suppose you wish to take out a home improvement loan. Calculate the monthly
payment if your loan is for $7,500 at 9% interest compounded monthly for 4 years.

1. Press i ]to clear the financial registers.

2 Key in 7,500 and press [_i_] to enter the loan amount.

3. Press [i_]to make sure end-mode is being used.

4. Key in 9 and press [_i_] to enter the interest rate per period.

5 Key in 4 and press L ] to enter the number of compounding periods.
6 Press Li_]. The monthly payment is $186.64.

Example: How much could you afford to pay for a new car if you could afford $300 monthly
payments? Assume a 4 year loan with 9% interest compounded monthly.

1. Press[i]

[ 1 to clear the financial registers and set end mode.

2. Key in 300 and press [_i_|

[ to enter the monthly payment amount.

3. Key in 9 and press L_i_1 to enter the interest rate per period.

4. Key in 4 and press [__] to enter the number of periods.

5. Press [_i_1] to calculate the purchase price. The amount you could afford to pay for

the caris $12,055.43.

Example: If you wish to buy a $17,000 boat which requires 60 payments of $180 each,
what is the annual percentage rate you are paying?

1. Press ]

[ 1 to clear the financial registers and set end mode.

2. Key in 17,000 and press [_i ] to enter the purchase price.

3. Key in 60 and press [_i_] to enter the number of periods.

4, Key in 180 and press [_i_|

[ I to enter the payment amount.

5. Press i 1 to calculate the interest rate per compounding period.

6. Key in 12 and press [_i_] to calculate the annual interest rate. The result is 12.70%



BizWiz Extended Help

To key in a number or perform a BizWiz function, click on the desired function key. Function
keys are the buttons which appear on the calculator, as well as the text functions which
appear above and below a button. No prefix keys are required.

To obtain context-sensitive help, press Shift+F1 (hold down the shift key and press F1). The
mouse cursor will change into an arrow with a question mark. Then click on the desired
function key.

Other methods of obtaining help are:

1.

2.
3.
4

For help with the Windows help system in general, select "help on help" from BizWiz'
help menu.

For an introduction to RPN arithmetic (used by BizWiz and by HP calculators), click here.
For an indexed listing of help topics, click on the "index" button above.

For a keyword search, click on the "search" button above.



Percentage Calculations
Percent of a Number

Percent Difference

Percent of Total

Percent Markup




Percent of a Number

The [ function is used to calculate a percentage of a number.

Example: Compute 8.1% of 359.08:

1. Type 359.08 and press [ |

2. Type 8.1 and press i 1. The result is 29.09.

Example: Assumming the sales tax rate in your area is 7.8%, what is the total price of an

item costing $79.697

1. Type 79.69 and press [i_]
2. Type 8.1 and press L1 and then
[ i 1. The resultis $85.91.



Percent Difference

The function is used to calculate the difference between 2 numbers. The base number
is the number that the other number is being compared against. It is entered first.

Example: If the price of gasoline rose last month from $1.08 to $1.32, what is the percent
difference?

1. Key in 1.08 and press [_i_] to enter the base number.
2. Key in 1.32 to enter the other number and press [2Z 1. The result is 22.22%.



Percent of Total
The function is used to calculate the percentage one number is of another.

Example: If a gasoline tank holds 12 gallons, what percentage full is the tank if the tank has
only 1.8 gallons of gas left?

1. Keyin 12 and press [i|
2. Key in 1.8 and press [ZT]. The result is 15%.



Date Calculations

The date calculations provided are generally used in conjunction with Bonds but can also be
used to calculate a past or future date given a base date and a number of days from that
date, and the number of days between 2 dates.

Dates are entered in either Month-Day-Year format or Day-Month-Year format. By default,
BizWiz uses the Month-Day-Year format. If you with to change to the Day-Month-Year
format, press L 1. To change back to Month-Day-Year, press

Example: Calculate what day will it be 120 days from June 1, 2001. First key in the date by
entering the number 6.012001 (if you are in Day-Month-Year mode, enter the number
1.062001 instead), followed by pressing Li_]. Next key in 120 and press

[CATE]. The result is 9,29,2001 6. That is, September 29, 2001. The trailing 6 means the
day of the week is Saturday (1=Monday, 2= Tuesday, etc.).

Example: Calculate the number of days between Jan 1, 1992 and June 30, 1992. Key in
1.011992 and press [i_1. Then key in 6.301992 and press
[=DYE]. The result is 181 days.



Bond Calculations

The [_i_] and

[ 1 functions calculate the price and yield to maturity of a semi-annual coupon bond.
Calculations are made on the a 30/360 basis using a par value of 100.

Example: You are interested in purchasing an 8.5% semi-annual coupon bond at 94 1/2.
Determine the yield this bond will produce if you purchased it on Nov. 15, 1987 and it
matures on April 7, 1996.

1. Press [i | to use Month-Day-Year format.

2. Key in 8.5 and press [_i_1 to enter the coupon rate.

3. Key in 94.5 and press [_i_| to enter the bond price.

4 Key in 11.151987 and press [_i_1 to enter the purchase date.

5 Key in 4.071996 and press [ to calculate the yield to maturity.

The bond will yield 9.46%.

Example: Assume you desire a yield of 8.75% on a bond that reaches maturity on August 4,
1998. If the bond is a 7.25% treasury bond, how much should you pay for it on October 11,
19887

1. Press [i_]to use Month-Day-Year format.

2 Key in 7.25 and press [_i_] to enter the coupon rate.

3. Key in 8.75 and press [_i_] to enter the desired yield.

4 Key in 10.111988 and press [__] to enter the purchase date.
5 Key in 8.041998 and press [_i_1 to calculate the price.

You should pay $90.24 for the bond.



Discounted Cash Flow Analysis

The Net Present Value, Net Future Value, Internal Rate of Return, and Modified Internal Rate
of Return functions allow you to compute compound interest problems at regular intervals
where the payment (positive or negative) amount is irregular. In addition, if a number of
the amounts are regular, you can "group" them together. You must observe the cash flow
convention when entering the payment amounts.

The [ 1 function calculates the net present value of a series of cash flows made at regular
intervals. It is most commonly used to perform an analysis between a variety of investment
opportunities. A negative NPV represents a loss on an investment.  (Note: BizZWiz rounds
NPV and NFV calculations to 2 decimal point digits).

Example: Suppose you are considering purchasing a hotel for an initial payment of
$110,000. You predict that cash flows for the first 3 years to be $45,000 each year, $55,000
for the 4th year, and $60,000 for the 5th year. You desire a 20% return on investment.

Can this amount be realized?

1. Press ]
[ 1 to clear the financial and storage registers.
2. Key in 110,000 and press [i_|

to enter the initial cash outlay.

Key in 45,000 and press [CFL]. To enter the 2nd cash flow.
Key in 3 and press to "group" 3 cash flows at 45,000.
Key in 55,000 and press to enter the 4th cash flow.
Key in 60,000 and press to enter the 5th cash flow.
Key in 20 and press [_i_] to enter the interest rate.

Press [__] to calculate the net present value.

©ONO U kAW

Since the result is positive, the desired 20% return would be achieved.

The Internal Rate of Return is a discount rate which equates the present value of the
expected cash outlays with the present value of the expected cash income. It is the rate an
investment is expected to return.

Example: Calculate the Net Future Value and Internal Rate of Return for the example above.

1. Press [i]to calculate the Net Future Value. The result is $88,156.80.
2. Press i1 to calculate the Internal Rate of Return. The investment would yield
33.19%.

The Modified Internal Rate of Return (MIRR) is calculated using a different interest rate for
the positve cash flows than for the negative ones. Negative cash flows are calculated using
a "safe" rate and positive flows using a "reinvestment" or comprable risk rate. The safe
rate is keyed into the | register and the reinvestment is entered into the X register when
performing the MIRR calculation.

Example: Assume an opportunity for an investment required/produced the following cash
flows: -$100,000 1st month, $20,000 next 3 months, -$18,000 next 2 months, $180,000
next month. Calculate a MIRR using a safe rate of 7% and a reinvestment rate of 11%.



1. Press i ]to clear the financial and storage registers.
2 Key in 100,000 and press (1]
to enter the 1st cash flow.

3 Key in 20,000 and press to enter the next cash flow.
4 Key in 3 and press to enter a total of 3 cash flows at this rate.
5 Key in 18,000 and press [i |
to enter the next cash flow amount.

Key in 2 and press to enter a total o 2 cash flows at this rate.
7 Key in 180,000 and press to enter the last cash flow.

CFj
6.
8. Key in 7 and press [_i_] to enter the safe rate per compounding period.

9. Key in 11 and press [_i_1. Key in 12 and press

[ Ito enter the reinvestment rate per compounding period into the X register.

10 Press [ ] to calculate the Modified Internal Rate of Return. The result is 10.22%.



Interest Rate Conversions

BizWiz can convert between a nominal interest rate and an effective interest rate using
either periodic compounding or continuous compounding. Interest rate conversions are
required for compound interest problems where the compounding period is different from
the payment period.

To convert an interest rate, key in the number of compounding periods per year and press
i 1. For continuous compounding, key in 0 as the number of compounding periods. Then
key in the known value for either the nominal rate and press

(i1, or the effective rate and press

i 1. Finally, to convert to a nominal rate press

(i1, or to convert to an effective rate press

il
Example: What is the effective rate of 7.2% compounded monthly?

1. Keyin 12 and press [_i_] for the number of compounding periods per year.
2. Key in 7.2 and press [_i_] to enter the nominal rate.
3. Press L_i 1| to calculate the effective rate. The result is 7.44%.

Example: Assume you are able to make monthly deposits of $100 into a savings account
which earns 6.5% interest with daily compounding. How much will you have in the account
after 5 years?

1. Press[i]

[ 1 to clear the financial registers and select begin mode.

2. Key in 365 and press [_i_] to enter the number of compounding periods.

3. Key in 6.5 and press [_i_]

[ 1 to enter the nominal rate and calculate the effective rate. The result is 6.72%.
4. Key in 12 and press [_i_1 to enter the number of deposits per year.

5. Press i |

[ 1 to calculate the equivalent nominal rate at monthly compounding and enter this as the
new interest rate per compounding period.

6. Key in 100 and press
[ to enter the monthly payment amount.
7. Key in 5 and press [_i_] to enter the number of periods.

8. Press L1 1 to calculate the future value. The result is $7071.32.



Business Functions

The

and

function keys are used to calculate markup as a percentage of cost or price. They
can also calculate the cost or price of an item given its markup and one variable of either
cost or price.

Example: If a store buys an item from a wholesaler for $15.00 and sells the item for $22.50,
what is the markup as a percentage of price?

1. Keyin 15 and press

2. Key in 22.5 and press
3. Press to obtain the markup as a percentage of price. The result is 33.33%.

Example: If a retailer wishes to have a markup of 70% on a certain product. What should
they price the product at if it costs $47.007

1. Key in 47 and press
2. Key in 70 and press
3. Press to obtain the price.

The retailer should price the item at $79.90



Math Functions
BizWiz provides the following math functions:

Calculates the value of Pi (3.14159...) to 18 significant digits
LOG]| Calculates the log (base 10) of a number in the display
Calculates the natural log of a number in the display
Calculates the exponential, e to the power given in the display
Calculates 10 to the power given in the display

Calculates the reciprocal of the number in the display
Calculates the factorial of the number in the display

Calculates the square root of a number in the display

Rounds the number in the display to the number of digits shown in the display
Raises a number in the y register to the power in the x register.
Returns the integer portion of the number in the display
Returns the fractional portion of the number in the display
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Example: To calculate the square root of 2, key in 2 and press L= 1. The result is 1.41.

Example: To raise the number 2 to the 3rd power (i.e., 2 * 2 * 2), key in 2 and press [_i 1.
Then key in 3 and press
[¥* ], The result is 8.



Statistics

BizWiz can perform common statistical calculations including mean and standard devication.
Results can be calculated using both one and two variables. The key is used to enter

data into the statistical registers. When entering single variable data points, the number is
keyed in and the

key is pressed. With 2 variable analysis, the 2nd data point is keyed in and the

i 1 key is pressed. Then the first data point is entered and

is pressed. The following statistical function keys are available:

Enter data points into the statistical registers.

Remove an incorrectly entered data point(s) from the statistical registers.
Calculate the mean.

Calculates the standard deviation

Calculates the weighted mean.

Calculates the linear estimate and correlation coefficient for a a first (X) variable.
Calculates the linear estimate and correlation coefficient for a second (Y) variable.

2F| =
. (2 1| |C+1

When the function key is used, memory storage registers 1 through 6 hold
intermediate values. You can use the

[ 1 function key to view these values. The values held in these memory storage registers
are summarized below:

[ 11 Displays the number of data items entered thus far.

[ 12 Displays the sum of all the first variable values.

[ 3 Displays the sum of the squares of the first variable values.

[ 14 Displays the sum of the second variable values.

[ 5 Displays the sum of the squares of the second variable values.

[ 16 Displays the sum of the products of the first variables and the second variables.

Example: Suppose you are a teacher with 5 students. The student's scores on their last
math test were 80, 63, 77, 94, and 79. Find the mean and the standard deviation of the
test scores.

1. Press [ |to clear the statistical registers.

2 Key in 80 and press to enter the 1st student.

3. Repeat step 2 substituting the numbers 63, 77, 94, and 79.

4. Press [_& ] to calculate the mean. The result is 78.6.

5 Press to calculate the standard deviation of the second (history) data group of
data points. The resultis 11.01

Example: Suppose the same students above had history test scores of 69, 64, 73, 90, and
66. Find the mean and the standard deviation for the history scores.

1. Press [i_]to clear the statistical registers.

2. Key in 80, press Li_1, key in 69, and press

to enter the math and history data for the 1st student.

3. Key in the remaining data pairs as in step 2 above using the data pairs (63, 64),
(77,73), (94,90), (79,66).



4. Press to calculate the standard deviation of the second data points (history).
The result is again 10.41.

5. Press i 1| to calculate the standard deviation of the first data points (math). The
result is again 11.01.

Example: Using the values entered for the students above, compute an estimate for a
student's history score given that the student had a math score of 80. Also compute the
correlation coefficient for this value.

1. Key in 80 and press to calculate the best-guess second (Y) value based upon a first
(X) value of 80. The resultis 85.51.
2. Press L_]. The correlation coefficient is 0.86.

Example: Find the average cost per minute of your monthly long distance calls if you were
charged for the following: 3 minutes at $0.35 per minute, 13 minutes at $0.70 per minute,
and 9 minutes at $0.56 per minute.

1. Press i |to clear the statistical registers.

2. Key in .35 and press 1. Key in 3 and press
.

3. Key in .70 and press 1. Key in 13 and press
]

4, Key in .56 and press [_i_]. Key in 9 and press
.

5. Press to calculate the weighted mean. The result is an average of 66 cents per
minute.



Programming

Programming BizWiz is a process whereby you "teach" the calculator a series of keystroke
steps. BizWiz allows up to 999 program steps. In addition, you can have a program follow
a different path based upon values contained in registers. For example, the program could
jump to a different location if the value in the X register (the display) was greater-or-equal to
the value in the Y register. This is known as "conditional branching". Programming also
allows you to repeat given sequences a certain number of times. This is known as

"looping".

The following additional programming categories are available:

Entering a Program

Program Looping and Branching

Editing a Program

Loading and Saving Programs

Additional Programming Functions




Additional Program Functions

The key has a number of similiar functions. When in program mode, this function key
is used to insert a Run/Stop instruction in the program. This instruction is used to end
program execution, or to suspend program execution to allow the user to key in additional
input. When not in program mode, this key is used to start the execution of a program.

The function key is used to temporarily suspend program execution for several seconds
so that the user can view an intermediate result. This function is only operational in
program mode.



Entering a Program

To enter a program, BizWiz must be placed in program mode by pressing Li_1. When in
program mode, subsequent keystrokes are stored in the calculator's internal memory. The
[F/R] function key toggles between program and run (normal) modes.

When first entering program mode, the display shows the value 000-. This represents the
current program line number, in this case 000. Line 000 represents the beginning of
program memory. Let's enter a simple program.

1. Press to put BizWiz into program mode. The display shows 000-
2 Press i 1 to clear the program memory.

3 Key in 1. The display shows 001- 1.

4. Key in 0. The display shows 002- 0.

5. Press L1 1. The display shows 003- Enter.

6 Key in 5. The display shows 004- 5.

7 Press L1 1. The display shows 005 +.

8 Press to return to run mode.

9 Press to run the program. The result is 15.00.

The above program simply adds the numbers 10+5 and then finishes.



Program Looping and Branching
BizWiz provides for looping absolute branching, and conditional branching in programs.

Absolute branching is performed using the function. To go to a specific line number,
the

function is pressed (while in program mode), followed by a 3 digit number. BizWiz
allows for programs up to 999 lines in length.

NOTE: HP-12C programs can be up to 99 keystrokes in length while BizWiz can be up to
999. Therefore, the function is followed by 2 digits in the HP-12C and 3 digits in
BizWiz.

BizWiz can perform conditional branching based upon the values contained in the X and Y
registers. When running a program, a conditional instruction will perform a test and will
execute the next instruction in the program if the condition is true, or skip over it if the
condition is false. The conditional instructions are as follows:

True if X is less than or equal to Y
True if X is equal to 0

You can execute a series of instructions a number of times within a loop using the above
functions to determine the number of times to execute the loop.

Example: Write a program which will add the numbers 1 through 5 in a loop and store the
result in memory register 1.

1. Press to put BizWiz in program mode.

2. Press [_i_]to clear program memory.

3. Key in 0 and press [i_1 1 to clear memory register 1.
4. Key in 5 and press [_i_]

[P 11 to enterthe value 10 in memory register 1.

5. Key in 1

6. Press L i 1 Instructions 5 and 6 subtract 1 from the X register.

7. Press to test and see if the X register is 0.

8. Press [R/]. When X is 0, this instruction will be executed and the program will stop.
9. Press 004. When X is not 0, a jump to instruction 004 will be performed.

10.  Press to put the calculator back in normal mode.

To run the program, press . The result is 15.00 and will be contained in memory
register 1.



Program Editing

There are a number of ways to edit a BizWiz program. When in program mode, the
and

function keys are used to move forward and backward respectively throughout a
program. You can insert a new program line by moving to the desired location and entering
the desired keystroke. The keystroke will be inserted following the line number in the
display.

To replace a keystroke while in program mode, press followed by the 3 digit program
line number you wish to replace. Then key in the desired keystroke.

When in run mode, you can move to a desired program line number by pressing
followed by the desired 3 digit line number. You can then switch to program mode by
pressing

[F/F] and BizWiz will be displaying the line number you entered.




Loading and Saving a Program

BizWiz programs can be saved as disk files. When you select "Save..." from the File menu,
BizWiz will prompt you for a filename. Enter a desired DOS file name. BizWiz uses the
extension .WIZ by default. To load programs previously saved, use the "Open..." command
from the File Menu.

BizWiz program files are stored as ordinary ASCII text files. You can use any ASCII editor,
such as the Windows notepad.exe to examine programs you have saved.



Stack Operations

The [i_I exchanges the contents of the X and Y registers.

The i1 "rolls down" the stack. The T register is copied into the Z register. The Z register
is copied into the Y register, and the Y register is copied into the X register. The X register is

"rolled around" into the T register.

The function is not technically part of the stack. It is used to recover numbers entered
just before a mathematical operation was performed on the stack.



Actuarial Functions

BizWiz provides a number of actuarial functions. These functions require an interest rate to
be keyed into the | register and the number of periods to be keyed into the N register. The
functions are listed below.

[ ] Calculates the present value of $1 to be received after a number of periods at a
certain compounding rate.

i1 calculates the future value of $1 received in the present after a number of periods at
a certain compounding rate.

i1 calculates the present value of a series of $1 payments at regular intervals after the
last payment has been made.

i1 cCalculates the future value of a series of $1 payments at regular intervals after the
last payment has been made.

Example: How much is a promise to pay $1 in 15 years worth assuming 8% compound
interest?

1. Key in 8 and press [i_]
2. Key in 15 and press [i_1

3. Press i1 to calculate the Single Payment Present Value function. The result is 32
cents.



Leasing Calculations With Advance Payments

BizWiz provides a function for calculating the payment amount of a compound interest
problem where advance payments are made. This often occurs in leasing calculations
where several payments are made at the end of the lease.

An advance payment calculation is similiar to other compound interest calculations that
calculate a payment amount except that the number of advance payments is keyed in and
is pressed (instead of pressing

[P 1). A future value amount can optionally be entered if the asset has a residual value at
the end of the term. The

[ ]and

(i1 functions have no effect on the advance payment calculation.

Example: Assume an automobile is to be purchased on a 4 year lease and that 3 advance
payments will be made. If the purchase price is $18,000 and the interest rate is 12%
compounded monthly, what is the monthly payment amount?

1. Press [i_1to clear the financial registers.

2 Key in 18,000 and press [_i ] to enter the loan amount.

3. Key in 12 and press [_i_| to enter the interest rate per compounding period.

4 Key in 4 and press [_i_] to enter the number of compounding periods.

5 Key in 3 and press to calculate the payment amount. The result is $460.42.



Odd Period Calculations

In compound interest calculations which involve partial periods, BizWiz provides for 2
different methods to calculate the interest during that partial period. By default, BizWiz
uses simple interest to calculate the partial (odd) period. BizWiz can toggle between simple
and compound interest during the odd period by pressing

[ 1 or by selecting the Options menu and selecting "Other" and clicking on the odd period
interest radio buttons.

When performing odd period calculations, the partial period is expressed as a fraction and
entered using the [_i_] function key. For example, a compound interest calculation
involving fifteen and one-half periods would be entered as 15.5. In calculations where
whole numbers are entered in the

[ 1 register, the result will be the same regardless of whether simple or compound odd
period interest is used since there is no odd period.



BizWiz Financial Calculator

Welcome to BizWiz(tm), the financial calculator for Microsoft Windows(tm). BizWiz is fully
compatible with the famous Hewlett-Packard HP-12C(tm) handheld calculator while
incorporating a number of features not found in the HP-12C.

This full-featured edition of BizWiz is shareware. You may make copies of BizZWiz and give
them to your friends and co-workers. This license allows you to use BizWiz for a
period of up to 60 days. After that, you are requested to register the product or
discontinue its use.Please read the entire license agreement before using BizWiz.

Registration has its advantages! You will receive a free copy of the 52 page "HP-12C Pocket

Guide: Just In Case", published by Grapevine Publications (ISBN 0-931011-12-4) as well as
the latest commercial version of BizWiz which doesn't bring up this startup screen with
each invocation. You will also receive notification of product updates, and qualify for
technical support. When you register, you may optionally order Grapevine's "An Easy
Course in Using the HP-12C" (ISBN 0-931011-08-6), an in-depth manual/tutorial with lots of
examples. BizWiz registration is only $40.00 which includes shipping and handling.

> To view a BizWiz registration form click here. To print the form select File then
Print Topic.

> To view a BizWiz multiple (site) license registration form click here.

> To view BizWiz' License Agreement, click here

> To exit this screen and start BizWiz, select File then Exit.



License Agreement
By using this software, you agree to the following terms.

1. You are hereby granted a license to use this software and to make copies of the software
and distribute them to your friends and co-workers, on electronic bulletin boards, and so on,
as long as the product is not distributed for profit (handling fees up to $6.00 ok). If you
distribute this software, you agree to distribute all the associated files (including all
executable, help, installation, and readme files) together as a group.

2. You are granted a license to use this software for a period of up to 60 days. After that
time, you are requested to register the product or else discontinue it's use.

3. You are not allowed to make any modifications to, or to create derivative works from
any of the files that are used in this software. This includes all the executable, help,
installation, and readme files, as well as all graphics images.

4. THE SOFTWARE HEREIN ARE PROVIDED "AS IS" WITHOUT WARRANTY OF ANY KIND,
EITHER EXPRESSED OR IMPLIED, BUT NOT LIMITED TO, THE IMPLIED WARRANTIES OF
MERCHANTABILITY AND FITNESS FOR A PARTICULAR PURPOSE. THE ENTIRE RISK AS TO THE
QUALITY AND PERFORMANCE OF THE PROGRAMS IS WITH YOU. SHOULD THE PROGRAMS
PROVE DEFECTIVE, YOU (AND NOT CALCTECH, INC. OR AN AUTHORIZED CALCTECH DEALER)
ASSUME THE ENTIRE COST OF ALL NECESSARY SERVICING, REPAIR, OR CORRECTION.

SOME STATES DO NOT ALLOW THE EXCLUSION OF IMPLIED WARRANTIES, SO THE ABOVE
EXCLUSION MAY NOT APPLY TO YOU. THIS WARRANTY GIVES YOU SPECIFIC LEGAL RIGHTS
AND YOU MAY ALSO HAVE OTHER RIGHTS WHICH VARY FROM STATE TO STATE.

5. IN NO EVENT SHALL CALCTECH OR ANY OF IT'S AUTHORIZED DEALERS OR SUPPLIERS BE
LIABLE TO YOU OR ANY OTHER PARTY FOR ANY DAMAGES WHATSOEVER (INCLUDING,
WITHOUT LIMITATION, DAMAGES FOR LOSS OF BUSINESS PROFITS, BUSINESS
INTERRUPTION, LOSS OF BUSINESS INFORMATION, OR OTHER PECUNIARY LOSS) ARISING
OUT OF THE USE OF OR INABILITY TO USE THIS SOFTWARE, EVEN IF CALCTECH HAS BEEN
ADVISED OF THE POSSIBILITY OF SUCH DAMAGES.

SOME STATES DO NOT ALLOW THE LIMITATION OR EXCLUSION OF LIABILITY FOR INCIDENTAL
OR CONSEQUENTIAL DAMAGES SO THE ABOVE LIMITATION OR EXCLUSION MAY NOT APPLY
TO YOU.

6. If you have any questions about this agreement, please contact CalcTech, Inc. in writing
or by fax.

Copyright(c) 1985, 1990,1991 by CalcTech, Inc.
All Rights Reserved

CalcTech, Inc.

P.O. Box 15277

Seattle, WA. 98115-0277
Phone: (206) 527-9950
Fax: (206) 525-1331



BizWiz Single-User Registration Form - Version 1.1

FAX to: (206) -525-1331
or Mail to: CalcTech, Inc.

P.0O. Box 15277, Seattle, WA. 98115-0277
Phone: (206) 527-9950

| | BizWiz Financial Calculator | |
| | (includes "The HP-12C Pocket Guide") | $36.00 |

| | Additional copies of "The HP-12C Pocket | |
| | Guide" by Grapevine Publications. |  $6.00 |

| | "An Easy Course in Using the HP-12C" | |
| | by Grapevine Publications. | $22.00 |

TOTAL | |
|———————~ |

Name: Company:

Phone: Fax:

Address:

(check one) : [ 1 VISA [ ] Mastercard [ 1] Check Enclosed

Credit card #: Expires: /

Cardholder's Name (Please print):

Cardholder's Signature:




BizWiz Multiple (Site) License Registration Form - Version 1.1

FAX to: (206) -525-1331
or Mail to: CalcTech, Inc.
P.0O. Box 15277, Seattle, WA. 98115-0277

| | Site License for 10 copies of BizWiz. | |
| | Includes 2 copies of "HP-12C Pocket Guide" [|$150.00]

| | Site License for 50 copies of BizWiz. | |
| | Includes 3 copies of "HP-12C Pocket Guide" [$275.00|

| | Site License for 150 copies of BizWiz. | |
| | Includes 4 copies of "HP-12C Pocket Guide" [$400.00|

| | Additional copies of "The HP-12C Pocket | |
| | Guide" by Grapevine Publications. | $6.00]|

| | "An Easy Course in Using the HP-12C" | |
| | by Grapevine Publications. | $22.00|

TOTAL | ———————= |
Name: Company:
Phone: Fax:
Address:
(check one): [ ]JVISA [ ]Mastercard [ ]JCheck Enclosed [ ] Bill Me
Credit card #: Expires:  /

Cardholder's Name (Please print):

Cardholder's Signature:

Purchase Order Number (optional):




About CalcTech and BizWiz

In the spring of 1984, Bellsoft Inc., an early spinoff of Microsoft Corporation, had planned to
introduce an entirely new type of productivity tool for IBM's new personal computer, the
"pop-up" (today known as the Terminate Stay Resident or TSR). TSR technology was at that
time a big secret, only a small number of people knew how to write TSRs. (People often
wonder why TSRs are not called pop-ups. In fact, it's because Bellsoft trademarked the
term "pop-up" specifically for the line of products they were developing).

In March, 1984, Bellsoft contracted with Ric Way of CalcTech, Inc. to develop a calculator for
their "Pop-Up DeskSet", a collection of pop-ups (oops!... TSRs) which included an alarm
clock, notepad, calendar, and calculator. A pop-up calculator, today considered to be an
easy programming project, was not quite as simple back then. Hard disks were
prohibitively expensive, symbolic debuggers were not yet available, and the C compilers of
the time (Lattice C version 1.04) did not contain the necessary math function libraries.

Pop-Up Deskset became a big success, although this success was dwarfed in comparison
with Borland's SideKick(tm) product. Pop-Up Deskset won PC Magazine's Editor's Choice
award in 1985 , and Software Digest gave Pop-Up Deskset their highest possible rating.
The article "TSR Desktop Organizers" (PC Magazine, Aug. 1987) contained a review of the
leading desk accessory programs. Three of the fourteen products reviewed contained
calculators developed by CalcTech.

In the fall of 1985 CalcTech began developing XACT Calculators, a set of 3 TSR calculators
which emulate the HP-11C Scientific, the HP-12C Financial, and the HP-16C Programmer's
calculators. XACT Calculators were CalcTech's first attempt at marketing a software
product. XACT Calculators have undergond a number of revisions and continue to be
successfully marketed today. Jim Seymour called an OEM version of XACT-12C one of the
Best of The Best utilities in June, 1987. XACT Calculators won PC Brand's 1989 award for
outstanding technical merit in a shareware program.

BizWiz represents the first Microsoft Windows program for CalcTech. BizWiz was not a "port"
over from XACT Calculators, but a complete re-write, written in the event-driven style of
Windows. BizWiz was written using Borland's C+4 (tm) version 2.00. The Windows
interface routines were developed with Candlelight Software's WindowsMAKER (tm)
Professional product. The setup program was adapted from a Microsoft public domain utility
downloaded from the MSOPSYS forum on Compuserve. The math routines were developed
using Greenleaf's Business MathLib++(tm) function library. This function library was
chosen because it provides exact decimal number representations in calculations of up to 18
significant digits. (most calculators, including XACT Calculators, use floating point math
libraries which are subject to roundoff errors). The graphic display of BizWiz was developed
mostly using the paintbrush program that comes with Windows. The shading was done
using an early version of Micrografx' Designer. And finally, the help topics were written
using Microsoft's Word for Windows.

BizWiz is a superset of the functionality of the Hewlett-Packard HP-12C handheld calculator.
If you are familiar with the HP-12C you'll find that the BizWiz functions are in the same
locations. In addition, a number of functions have been added that are not in the HP-12C.
These appear as function keys in locations which are not used on the HP-12C. Added
functions include Markup Functions, Actuarial Functions, Modified Internal Rate of Return,
Net Future Value, Advanced Payment, and Nominal/Effective Interest Conversions. Also,
BizWiz programs can be up to 999 program steps in length, the HP-12C is limited to 99
program steps.



We hope you enjoy BizWiz. A lot of work went into its development. We plan to continue to
support and update the product.

(Note: Some of the company and product names in this document have been used for identification purposes only
and may be trademarks of their respective companies).



RPN Basics

RPN stands for Reverse Polish Notation and is a style of arithmetic calculations that doesn't
require an '=' key. RPN has an advantage over algebraic calculators when performing
multiple calculations involving intermediate results.

With an ordinary algebraic style calculator, you would enter a calculation just as it is written.
For example, to add the numbers 4 and 3, you would enter 4 + 3 =. When you pressed the
'="'key, the result, 7, would be shown in the display. Now if you wanted to multiply this
result by 7, you would press * 7 = to yield your result.

With an RPN calculator, the same equation would be entered as 4 [ 13

[ 1. To again multiply this result by 7 you would now enter 7

[ ], with each new step, the result of the last step becomes the first number of the next
step. One other function key you should know about is the

i ] key. Itis used to clear the value in the display. There are several additional functions
which are used for stack operations.

Example: solve the equation 3 + (4 * 2).

1. Keyin 4 and press Li_1. The number 4 is now in the Y register (and the X register).

2. Key in 2 and press L1 1. The number in the Y register (4) is multiplyed by the
number in the X register (2) and the result is displayed in the X register (8).
3. Key in 3 and press L_i_]. The final result, 11.00, is displayed.

The way BizWiz (as well as HP calculators) implement RPN is with a stack. The stack
consists of 4 registers; X, Y, Z, and T. It is generally not necessary to understand all the
details of the stack but for completeness it will be discussed briefly below.

A number displayed in the calculator is said to be in the X register. When the [i_] key is
pressed, a number in the X register is "pushed" into the Y register and the previous number
in the Y register is pushed into the Z register. The previous number in the Z register is
pushed into the T register. T stands for "top" and represents the top of the stack of
numbers. The previous value in the T register is lost. When a function key such as the

[ 1 key is pressed, the value held in the Y register is added to the X register and this result
is now stored in the X register. Pressing

i 1 does one other thing, it leaves the stack disabled. This means that a number entered
after the

i ] key is pressed is not pushed on the stack, it remains in the X register. Most operations
enable the stack so that when a new number is entered, the previous contents of the X
register are pushed into the Y register. The most notable exceptions to this rule are the

[P 1and the
i1 function keys.



Error Conditions

BizWiz will display a message box with an error number when it encounters an error during
operation. The error codes are as follows:

ERROR 0: lllegal math operation such as divide by 0 or square root of a negative
number.

ERROR 1: Number too large.

ERROR 2: Illegal statistical operation.

ERROR 3: Solution for IRR cannot be determined.

ERROR 4: Program is too large or contains a logical error.

ERROR 5: Amortization or depreciation error. Either PV and FV have the same sign or
n=0.

ERROR 6: More than 20 grouped cash flows have been entered or more than 99 non-

grouped cash flows.
ERROR 7: IRR error. All the IRR cash flows have the same sign

ERROR 8: Date arithmetic error



